N & 0l & AF S & M M

20169 = S0l& LB H Mot
SN ASEED
HE: Mot4E el
& St=Xel AlE (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Aot=S Dt 21,303,228 30,118,160 A 8,814,932
= 6,427,000
Xl 60,000
J| 22,500
< 729,000
Al 14,064,728
Aot 22 9,130,628 12,080, 160 A2,949,532
Xl 60,000
J| 22,500
< 403,000
Al 8,645,128
St=XHel AlE 150,000 14,200 135,800
=7 230t HM2AANE SESA(ERX) 150,000 0 150,000
401 AIEHI L 2 CHYI 150,000 0 150,000
01 A& HI 148,920 0 148,920
O27 S36tHelAl" SESAH(AAIEAH)
150,000,000 *99. 28% 148,920
03 Al S HHI 1,080 0 1,080
O37 S36taHelAl" SESAH(AAIEAH)
150,000, 000& *0.72% 1,080
OtSot=% FHIALS 1,672,000 5,255,500 A 3,583,500
0t St=XMeld s 1,672,000 1,476,500 195,500
307 glz2+ol & 700,000 641,000 59,000
05 RIZteIE = 700,000 641,000 59,000
OLAE S3ot=XMAlE QU2AES
700,000,000& 700,000
401 A& HIZ 201 I 972,000 800,000 172,000
01 A& HI 967,824 795,680 172,144
O0ISot>HMelE JIET S (0 @ 7HA)
90,000, 000& 90,000
OltSot=HMelAld ot 2 JIsxs (e 2
1200 &) 137,000, 000& 137,000
O0ISat=HelAld HEAD HHAAE 25(
1300 &) 65,000,000& 65,000
OltSot=HMelAlE USHSEAMAE 2=(0t
o EZD S BIREHIOE) 297,840
300,000,000& *99.28%
O-% Ot26taHMalAlE PLCAIAE JH (400
800l &) 280,000,000 *99.28% 277,984
OltSot=HMalAlE SNRSE FHISAH(EFE =
, =) 50,000,000& 50,000
OLALBIot=HelAlE ANESES3A
50,000,000& 50,000
03 Al S THHI 4,176 4,320 A 144
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OOtSot=HMelAlE USESEAAY 2=(0t
G EZ S BB EIOE) 2,160
300,000,000& *0.72%
OL-% OtS6taHMelAl S PLCAIAE JH (400
,80E 0] &) 280,000,000& *0.72% 2,016
SHI=ANE & S3ot=HelAl4 6,378,129 6,378,121 8
J| 22,500
= 403,000
Al 5,952,629
SZIIZAL QU2tE 29 820,000 820,000 0
307 glz2tol & 820,000 820,000 0
05 Rzt E = 820,000 820,000 0
O3t 224X HelAA pI2ee3
820,000,000& 820,000
BAJIZANL QAAERI(EX) 5,535,629 5,535,629 0
= 403,000
Al 5,132,629
307 glz2tol & 5,535,629 5,535,629 0
< 403,000
Al 5,132,629
05 RIZHRI & 3 5,535,629 5,535,629 0
OEZIIZAE 2UAAE2H  5,535,629,000& 5,535,629
= 403,000
Al 5,132,629
AESHH &2 (BEX) 22,500 22,492 8
J| 22,500
201 et 22,500 22,492 8
J| 22,500
01 At 221l 22,500 22,492 8
02| 22,500
o EZIIEANE =ZIA 22,500,000& 22,500
J| 22,500
ot &4 208,899 221,339 A 12,440
s8s o=k &4 208,899 221,339 A 12,440
201 ¢er24l 8,899 10,339 A 1,440
01 At 2t 2l 100 1,540 A 1,440
OBt~ 100
o Aisxt Hddx+2 ¥ HIE 100,000& 100
02 =224l 8,799 8,799 0
OZZ223ZLHA 2,399,000& 2,399
OXHE & | 3,000,000& 3,000
O4ot=& 3l 3,400,000& 3,400
401 Al HIZ 201 8] 200,000 200,000 0




SN ASRED
HE: Mot4E el
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= _ — d =
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01 A& HI 198,560 198,560 0
OS%sS o= FHIAMY
200,000,000& *99.28% 198,560
03 AlE 2 THHI 1,440 1,440 0
SHS o5 ZHIAY
200,000,000& *0.72% 1,440
= AIE HEAMS 141,600 211,000 A 69,400
Xl 60,000
Al 81,600
22 =TAE SA22 55,600 111,000 255,400
201 £B-2%H| 16,800 16,000 800
01 At 22l 6,800 6,000 800
O2et=ZH| 6,800
0 AR=sE =ZHAA 300,000& x40 A x4 2] 4,800
oAk 2E ARES Y
2,000,000& 2,000
02 =224l 10,000 10,000 0
OAN&EHl S Xl 10,000, 000& 10,000
206 T2 Hl 800 3,000 A2,200
01 M= 4l 800 3,000 A2,200
OLA22E Y 2 2,500 » 1004 250
OLA2xE &5 2 55,000& x10& 550
401 Al HIZ 201 I 38,000 92,000 A54,000
01 A& HI 37,730 91,280 A 53,550
OLAR22E M HA 8,000,000& 8,000
OHX 278 =EAE= B
30,000,000& *99. 10% 29,730
03 AIE =TI 270 720 A 450
OHX 278 =EAIE= B
30,000,000& *0.90% 270
LTS 2TAM HSBAL(XS) 86,000 100,000 A 14,000
Xl 60,000
Al 26,000
401 Al HIZ 201 8] 86,000 100,000 A 14,000
Xl 60,000
Al 26,000
01 A& HI 85,226 99,100 AN 13,874
OLAR2 =S A4 ALY
86,000,000& *99. 10% 85,226
Xl 59,459
Al 25,767
03 A& =2 THHI 774 900 A 126
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OL7E =S AE HEAMY
86,000, 000& =0.90% 774
Xl 541
Al 233
ot=XMeld ¥ Ot=ot=E 22l 580,000 0 580,000
St=SZXAFALEE RANES EZALEY 580,000 0 580,000
201 Let24d] 60,000 0 60,000
02 =24l 60,000 0 60,000
OCSOsH 2l Al & (20 4) |X2el S2e3 (&I
4 S) 45,000,000& 45,000
OCSOsH 2l Al & (201 4) KA 2el (233 Hl)
15,000, 000& 15,000
401 AIEHIZ 28I 520,000 0 520,000
1T A& HI 517,480 0 517,480
O==ZEMS R EEY 120,000, 000& 120,000
OUYHZZot4aH2ANE SHUSAAY 25
350,000,000& *99.28% 347,480
O=2+a5t+= |2 S0l GE HelE8
50, 000 ,000& 50,000
03 Al S THHI 2,520 0 2,520
OZNS3ot=HMelAE SHEAHAAY 2=
350,000,000& *0.72% 2,520
ot==2t H EHI At 9,963,000 15,904,400 25,941,400
= 6,427,000
< 326,000
Al 3,210,000
ot=2t2 FHIAMY 9,963,000 15,904,400 25,941,400
= 6,427,000
< 326,000
Al 3,210,000
ot=2t)1 HHIAY 250,000 700,000 A 450,000
401 AIEHI L 20HEI 250,000 200,000 50,000
A& HI 248,200 198,560 49,640
Oot+=22 FUIAY(HXA)
250,000,000& *99.28% 248,200
03 Al 2 THHI 1,800 1,440 360
Ool=22 FUIAY(HXA)
250,000,000& *0.72% 1,800
ot HHIMG(EX) 50,000 4,072,000 A 4,022,000
< 50,000
401 AIEHIZL 20 50,000 4,072,000 A 4,022,000
< 50,000
1T AIZHI 49,460 4,061,006 24,011,546
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OMBZ =ZF AL (R2+HE FH|)
49,460,000 49,460
= 49,460
03 A& 2 THHI 540 10,994 A 10,454
OMB3 =ZF AL (R2+HE FH|)
540,000& 540
< 540
'06 St=2t)4 BTL MM (B X) 3,210,000 3,255,000 A 45,000
= 2,232,000
< 96,000
Al 882,000
402 RI2FX=01 M 3,210,000 3,255,000 A 45,000
= 2,232,000
< 96,000
Al 882,000
02 BI2HCH & AF R HI 3,210,000 3,255,000 A 45,000
© 06 St==2tH BTLAIY Ald U=
3,210,000, 000& 3,210,000
= 2,232,000
< 96,000
Al 882,000
'06 ot=2t01 BTL AP (2ZHI) 460,000 460,000 0
307 g2+l & 460,000 460,000 0
05 BIZHRI & 3 460,000 460,000 0
© 069 St==2tH BTL QIZRAES
460,000,000 460,000
'09 St=2)1 BTL MM (EX) 5,993,000 6,728,000 735,000
= 4,195,000
< 180,000
Al 1,618,000
402 RI2FXt20l ™ 5,993,000 6,728,000 735,000
= 4,195,000
< 180,000
Al 1,618,000
02 BIZ2HCH & A& HI 5,993,000 6,728,000 A735,000
©'09 ot=2t)1 BTLAIY AlE 2UHE
5,993,000, 000& 5,993,000
= 4,195,000
< 180,000
Al 1,618,000
Hees(aot=2m) 2,200,000 2,124,000 76,000
WEHAXI S (&ot=E 1) 2,200,000 2,124,000 76,000
HEHeH X = 2,200,000 2,124,000 76,000
701 JIEtSI HEHES 2,200,000 2,124,000 76,000
03 BIILELEIANAN=ZEES 2,200,000 2,124,000 76,000
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